071-020( 273-2) (1/2)

cm
10(20
10(20|30
o 10 20 30 40 50 60
1.5 1 3 ]
/ / =
4] 1|1 (3] 2.4 =
1.49 =
1.80 1.8 E
VAVAVAVAY] 3
2.200 0.40/\ N 2.15 ; —
VAYAYAYA 3
\VAVAVAVAY, 11212130 5 =
IAYAVAYAYAN 2.45 =
VAVAVAVAY] =
ANANAN 3
A\YAVAVAVAY —
AANAN 3
VAYAYAVAY] =
IAYAYAYAYAY =
A\YAVAVAVAV —
YAYAViVA 4.30 =
VAVAVAVAY] 3
ANAAN |4-15] 7 =
(VAVAVAVAY] —Z 1113/ 4 1 E
IAYAYAVAWAY —
A\YAVAVAVAY 4.45 -
ANANAN 3
A\YAVAVAVAY —
AANAN |5.15] 2|4 =
\YAVAVAVAY] /| / 3
AANAN 1|1 |1a]34]3. =
(VAVAVAVAY] 5.49 =
IAYAYAVAWAY
A\YAVAVAVAY —
AN 6.15 11214 B
A\YAVAVAVAV 1 / / / —
AANAN 1|6 14|30 4 =
VAVAVAVAY] 6.45 =
AANAN =
(VAVAVAVAY] =
IAYAYAVAWAY 3
e ) / ]
A\YAVAVAVAV 745 1 1 1 30 3 =
AANAN . B
VAVAVAVAY] =
AANAN =
8as| 2| 2|15 =
g.20 6.1d VYV 18151 2| 2| 1) ° E
it 14|12 |8 [34] a4 3
VLA 8.49 =
JANTOALA) =
9.1 0.8q 95| 22|15
ADANAY;
. 17|11 | 5 [33] 4.9
o 9.48
9.80 0.7 K
10.15 6 =
/ =
2|2 ]2 ]3] ¢4 3
10.45 =
l11.15| 1 =
11.35 1.5 L 3|36 |30] 12 3
.45 =
11.80 0.4 3
""" 12.15 9 =
..... /
R 33|33
12.60 0.8 12.45 \ B
9 |15[16 30| 4 =
..... 13.45 3
""" 14.15 “ =
""" 13|15 |15 [ 30| 49 =
~~~~~ 14.45 =
15.10 2.50 .. L 15.15 2 =
..... |15.15| 7 =
1)o o3| 29 ‘< =
""" 15.45 =
16.15 33 =
/ —
8|9 |16]|30]| 33 =
16.45 =
17.15 30 =
/ —
8 |10]12]30| 3 =
17.45 =
18.10 18.15 a7 =
..... / —
U 14 |17 |16 [ 30| 47 =
..... 18.45 =
18.90 0.80 " " " ° 50 50 3
O-0-0
aRleX He-15) g 8 | 188 — =
07070 19.23 =
“07 0> =
0:070 B
~0:0>- =
O-0-0 —
0 0~ 20.15
0-0-0 2015
aRleX
OéOéO
0:070 80 =
ACAQA 12L-15] oo 10 110 | 1 _ N =




N
=

N
N

N
[N

N
i

24.10

5.2

+0:0:0:0:0:0:0:0-0:0-0-C
c0-0-0-0°0:-0-0-0-0-0-0-0-+

~0-0-0:0:0-0-0-0:0-0-0-0
- 0707007 0%0:070: 0070 0~
S0:0:0:0:0:0-0-0:0"0-0-C

0.28. .

24.38

20.15
60
7
1215 50 10 | 10
7.5
60
7
2215 55 10 | 10
77755
10 | 50
23.15 10 | 50
182 8|2s
73.43
24.15 AN
182353 |2
7438

071-020(

273-2) (2/2

)

189 —N 3
180) —N =
53.4 - ;
65.2 - =




